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QUESTION 1

Fill in the blank: In Security Gateways R75 and above, SIC uses for encryption.

A. AES-128

B. AES-256
C.DES

D. 3DES

Correct Answer: A

Reference: https://scl.checkpoint.com/documents/R80/CP_R80_SecMGMT/html_frameset.htm?
topic=documents/R80/CP_R80_SecMGMT/125443

QUESTION 2

You manage a global network extending from your base in Chicago to Tokyo, Calcutta and Dallas. Management wants
a report detailing the current software level of each Enterprise class Security Gateway. You plan to take the opportunity
to create a proposal outline, listing the most cost-effective way to upgrade your Gateways. Which two SmartConsole
applications will you use to create this report and outline?

A. SmartView Tracker and SmartView Monitor

B. SmartLSM and SmartUpdate

C. SmartDashboard and SmartView Tracker

D. SmartView Monitor and SmartUpdate

Correct Answer: D

QUESTION 3

The CPD daemon is a Firewall Kernel Process that does NOT do which of the following?
A. Secure Internal Communication (SIC)

B. Restart Daemons if they falil

C. Transfer messages between Firewall processes

D. Pulls application monitoring status

Correct Answer: D

Reference: https://supportcenter.checkpoint.com/supportcenter/portal?
eventSubmit_doGoviewsolutiondetails=andsolutionid=sk97638
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QUESTION 4

Traffic from source 192.168.1.1 is going to www.google.com. The Application Control Blade on the gateway is
inspecting the traffic. Assuming acceleration is enable which path is handling the traffic?

A. Slow Path

B. Medium Path

C. Fast Path

D. Accelerated Path

Correct Answer: A

QUESTION 5
Which of the following statements accurately describes the command snapshot?

A. snapshot creates a full OS-level backup, including network-interface data, Check Point production information, and
configuration settings of a GAIA Security Gateway.

B. snapshot creates a Security Management Server full system-level backup on any OS
C. snapshot stores only the system-configuration settings on the Gateway

D. A Gateway snapshot includes configuration settings and Check Point product information from the remote Security
Management Server

Correct Answer: A
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